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& fajrx={1} , y={2,3} , Z={2,5,6} ,find :
(X x(YNZ) ' ([2n@d

[b] Find the positive number which if its square is added to each of the two terms of the
ratio 5: 11 » it becomes 3 : 5

[a] If the point (a » 3) is located on the straight line which represents the function
f:R——TRwhere f (X) =4 X-5 , find the value of:a

[b]Ifa+b— b+c _c+a

3 G 5 > then prove that : Al

a

=7

[alIfX={1,3, 5} and R is a relation on X where "a R b"means "a +b=6"
foreacha &EX ,bEX

[1|Write R

(2/Show that R is a function and find its range.

[b] Calculate the standard deviation for the values : 17 ,22 520,23 ,18
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[alIfyoc X sy =6 when X=3 , find :
(1] The relation between y » X
[2]The value of y when X = 5
[b] Represent graphically the quadratic function f where f (X)=x2-3
> where XE[-3 , 3] and from the graph deduce :
[1]The equation of the axis of Symmetry.

(2] The minimum value of the function.
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Answer the following questions : (Calculator is permitted)

Choose the correct answer from the given ones :

(1] If the point of origin is the midpoint of AB > where A (5 5—2) - then the point B

TS
(a) (=55-2) (b) (552) (c)(=552) 050)

2 The angle of measure 50° is complementary with an angle of measure - rvo.-
(a) 50° (b) 40° (c) 30° 130°

3 Acircle its centre is (3 5 —4) and its radius length is 5 units, Which of the following
points belongs to the circle ?

(a) (=3 54) (b) (0,0) (c) (550) 1(054)
4|1f cos % = % where % is the measure of an acute angle » then X = ----cevveene.
(a) 60° (b) 120° (c) 180° d) 90°
5 If ABCD is a parallelogram in which m (£ A)+m (£ C)=220°
sthenm (£ B) = -oovvoveeene.
(a) 110° (b) 70° (c) 140° (d) 80°
& In the figure opposite : ~

ABC is a right-angled triangle at B
aﬁbisects L ASDE1AC
sAB=3cm. sCE=2cm.

sthen CB = oo cm.

(a) 2 (b) 3 (c) 4

dem

(d) 5
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ndicular distance between the two straight lines X — 2=0and X+3=0

(7 The perpe
equals - length units.
(a)l (b)5 ©2 (@3
_ 8 The sum of the measures of the accumulative angles ata point is o
(a)90° (b) 180° (c)270° (d)360°
9 If tan (X + 10) :1]; , where X is the measure of an acute angle » thin Xz sovmemoni
(a) 60° (b)30° (¢)50° (d)70°
10 The polygon in which the number of its sides is equal to the number of its diagonals is
the e
(d)hexagon.

(a) quadrilateral. (b) triangle. (c) pentagon.
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sses through the two points (= 1,3)5(254)is

B |a] Prove that the straight line which pa
0

parallel to the straight line 3y — x-1=
[b] ABCD is a trapezium ,AD//BC > m(£B)=9%0" >
, AD =2 cm. Find the length of DC and the value of cos (£ BCD)

B=3cm. » BC=06cm.

B [2] Find the equation of the straight line whose slope is 3 and passes through the point (152

[b] Without using the calculator »
angle) which satisfies that :
2sin X = tan? 60° — 2 tan 45°

| passes through the two points (3 » 1) » (2 »k) and the straight line

itive direction of the x-axis an angle of measure 45° 5then find

are perpendicular.

find the value of X (Where X is the measure of an acute

[ (2] If the straight line L
L, makes with the pos
K if the two straight lines Ly oLy

angle at B »if {2 AB=AC

[bl ABCisa right—angled tri
tric ratios of the angle c

, find the main trigonome

| (A3 > BGYD € (5,1)and AB=BC > BEAC
, then find the value of X

sA(6,0) » BQ ,—4) 5 C(=4>»
le at B » then find the coordinates of the poin

|b| Prove that the point: 2) are the vertices of
a right-angled triang t D that makes

the figure ABCD a rectangle.
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11/ A circle of centre at the origin point and its radius length is 2 length units.
Which of the following points belongs to the circle ?

() (1 5-2) o (-2:5)  ©@3,1) @1

(a) 4 (b) 32 (c) 64 (d) 16
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{8 (2] Prove that the points A (3 5~ 1) 5 B(=4,6) > C(2,—2)whi

orthogonal Cartesian coordinates plane lie on the circle whose cen

ch belong to an
reisM(=152)

» and find the circumference of the circle where 7T = 3.14

[b] Without using calculator , prove that :

tan? 60° — tan” 45° = sin® 60° + cos? 60° + 2 sin 30°

7] [a] Find the equation of the straight line perpendicular to AB from it midpoint where
A(53)andB (3 ,5)

[b] ABC is a right-angled triangle at B » where AC=5cm. » BC =< cm.
> find the value of : 2 cos® C + sin® A
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BY [a] Prove that the points A (3 5,—2) » B (=550) > CO>-7) - D(85-9)are the
vertices of a parallelogram.

[b] Find the value of X where : 4 X = cos® 30° tan? 30° tan2 45°

‘\ [a] If the two straight lines 3 X —4y -3 =0 and k y +4 X -8 =0 are both perpendicular
& P
s then find the value of k ¢

[b] Find the equation of the straight line which intercepts from the two zxes » two positive
parts of length 1 and 4 from X and y axes respectively.
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~ (Calculator is permitted)

D Choose the correct answer from the given ones :

(1] The solution set in R for the equation X 249=01s e

@ {-3} o) {3} ©1{-33} @9

[2] If the point (k —4 »2 —k) where k €7 is located in the third quadrant s then k= -ooeeeeee
()2 3 (©4 @6

(&) The multiplicative inverse of the number g ICRERTIES

-1 )63 ©273 @-213

6
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[4]If7 5 X » % are in continued proportion » then X2 y=-

(7 (b) % (c) 14 ()49

[5]Ifa+3b=7 , ¢c=3 » then the value of a+ 3 (b + ¢) =

(a) 10 (b) 16 (©)21 (d)30

(6] The difference between the greatest value and the smallest value in a set of
values is called -

(a) the arithmetic mean. (b) the median.

(c) the range. (d) the standard deviation.
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(7] The positive square root to the average of squares deviations of values from the mean
is called the «woooeeeee
(a) median. (b) mode. (c) range. (d) standard deviation
(8] If f 32X =6 sthen f (=2) = e
(@) - 12 ® -3 ©6 d) - 18
(9] [-5,3]-1-553[ =
@ {-5-3} ® 1-5-3] © =553 @D
[0 The fifth of the number 510 equals oo
@ 5 ® © 5 @ 5°
Gk If% = % = % , then each ratio equals -

2 If Xis an odd number » then the odd number of the following is -
(a) X-1 (b) X+1 (c) X+2 (d) X+3
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3a-b
a+2b

EE [a] If3a=2b ,then find the value of the ratio :

[b] Iff()=ax+5andf(-3)=28 , then find the value ¢f : a

; . . XT+y?
LE [a] If X »y >z are in continued proportion > prove that : _2:-_}’2_ = %
y z
bl EX={-15152} > Y={2,4,6,8} and R is a relation from X to Y where
"2 R b" means "b = 2 a + 4" for each a EX » b EY » write R and represent it by an

arrow diagram » show that R is a function from X to Y » why ?

Lu [a] If y oc X and y = 20 when X = 7, then find the relation between X and y » then find the
value of y when X = 14

blIfG-2X ,y3):(1 »27) ,thenfindthevalueof:\)3X+y

[a] Represent graphically the function f : f (X) =X 2 _ 7 where X €[-3 53] » and from
the drawing deduce the coordinates of the vertex of the curve and the minimum value

of the function.

[b] Find the standard deviation of the values : 7 516 513 5559




